EECS/CSE 70A Spring 2018 Midterm Exam #2 Name:

May 25, 2018, 12:00 pm to 12:50 pm ID no.:

Professor Peter Burke

PROBLEM 1: (10 points)

Find Ceq:
b
Cy=3uF

| |
AR 7/ =2
CI - 3}1FM - C3 — 4‘“13 / ‘-\\\\\ C 5 .“F

; } _,.._,,.‘,\\\\
C,=6pF

CI and Cg\ servies — beo CixCa . Q/AF'
Ceq= Ci+Cy

. ch_ Omcl 05 Parrallel —_— o= 0 an 4 C?,: 6/”;
Cs and Cg Parallel Ces= Co+C6= 6 U F

Cea ano{ Cez series «+ Cee = ngxcea =
Ceat+Ce 3

Cg=4pF

IUF

C‘Qc.r qm){ C"'f PQW‘(XHQ\ —b Ceq___ Ceér + (-‘4‘_:: 6//{F

Ceq é/&( =

Page 2 of 6.




EECS/CSE 70A Spring 2018 Midterm Exam #2 Name:

May 25™ 2018, 12:00 pm to 12:50 pm ID no.:
Professor Peter Burke

PROBLEM 2: (20 points)

The voltage of the capacitor is given as a function of time in the following figure
between Oms to 8ms. Plot the current of the capacitor, ic(t), between Oms to 8ms.
Mark the axes of your plot with numbers and units.
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EECS/CSE 70A Spring 2018 Midterm Exam #2 Name:

May 25™, 2018, 12:00 pm to 12:50 pm ID no.:
Professor Peter Burke
PROBLEM 3: (30 points) I:ZSW 'lx: N O Y
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EECS/CSE 70A Spring 2018 Midterm Exam #2 Name:

May 25™, 2018, 12:00 pm to 12:50 pm
Professor Peter Burke

PROBLEM 4: (20 points)

ID no.:

a) Giveni(t) =5 cos(ot + n/6) amps. Find the phasor I that represents i(t)
(express your answer for I in rectangular/cartesian form x + jy)
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b) Convert the phasor V=1 + J\/§ to time domain expression v(t).
(express the angle in radians not degrees)

- - T R — ‘s — .
I At =V 1+3 = 4 = 2
'
— s J i P P N\ ‘-ﬂ/

9V——-« {:O/?’ ( ag ) — [TAY ,\ :.i /: i 3

/ : .
\// >h M Froe /[ ’ .

v(t) 2 CoS ( (/\5";; + /Z:j

Page 5 of 6.



EECS/CSE 70A Spring 2018 Midterm Exam #2 Name:

May 25" 2018, 12:00 pm to 12:50 pm ID no.:
Professor Peter Burke

PROBLEM 5: (20 points)

Find V, I, and i(t) if Z = 10 e/V/* Q.

(express your answers for V and I in polar form re’/®)
(express all angles in radians not degrees)
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